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Read the passage carefully and answer the question.

All over the world the wild fauna has been whittled down steadily and remorselessly. and many lovely and
mteresting animals have been so reduced in numbers that. without protection and help, they can never re-
establish themselves. If they cannot find sanctuary where they can live and breed undisturbed. their numbers
will dwindle until they join the dodo. the quagga. and the great auk on the long list of extinct creatures.

Of course. in the last decade or so much has been done for the protection of wild life: sanctuaries and reserves
have been started. and the reintroduction of species mto areas where it had become extinet 1s taking place. In
Canada. for instance. beavers are now being reintroduced into certain areas by means of aero plane.

But although much is being done. there is still a very great deal to do. Unfortunately. the majority of useful
work in animal preservation has been done mainly for animals which are of some economic importance to
man and there are many obscure species of no economic importance which. although they are protected on
paper. are mn actual fact being allowed to die out because nobody. except a few interested zoologists. considers
them important enough to spend money on.

As mankind increases year by year. and as he spreads farther over the globe burning and destroying. it is some
small comfort to know that there are certain private individuals and some institutions who consider that the
work of trying to save and give sanctuary to these harried animals 13 of some importance. It 1¢ important for
many reasons, but perhaps the best of them 1s this: man for all his genius, cannot create a species. nor can he
recreate one he has destroyed. So until we consider animal life to be worthy of the consideration and reverence
we bestow upon old books and pictures and historic monuments, there will always be the animal refugee living
a precarious life on the edge of extermination. dependent for existence on the charity of a few human beings.

Sub questions

Question Number : 1 Question Id : 68634039398 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following would prove most effective in preserving wild life?

1. More Zoos

| S]

. Allocation of more funds
3. Sanctuaries
4. Loa against destruction of wild life

Options :

686340155601. 1
686340155602. 2
686340155603. 3
686340155604. 4

Question Number : 2 Question Id : 68634039399 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Animal species should be preserved mainly because

1. man cannot recreate a species of animal if it be destroyed
2. zoologists want to study them
3. they are killed by cruel people
4. they are lovely creatures

Options :

686340155605. 1

686340155606. 2

686340155607. 3
686340155608. 4

Question Number : 3 Question Id : 68634039400 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What attitude towards wild life does the author think most appropriate?

1. Sympathy

| S

. Cruetly
3. Pity

4. Reverence

Options :

686340155609. 1
686340155610. 2
686340155611. 3
686340155612. 4

Question Number : 4 Question Id : 68634039401 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following types of animals does man chiefly protect?
1. Harmless animals
2. Economically useful
3. Those without any shelter
4. Feeble animals
Options :
686340155613. 1

686340155614. 2
686340155615. 3



686340155616. 4

Question Number : 5 Question Id : 68634039402 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

The wild life 1s about to become extinet mainly because:

1. people kill animals callously

2

. there are very few places reserved for wild animals

L 5]

. people are ignorant
4. there are few institutions for preservation of wild life

Options :

686340155617. 1
686340155618. 2
686340155619. 3
686340155620. 4

Question Id : 68634039397 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the passage carefully and answer the question.

All over the world the wild fauna has been whittled down steadily and remorselessly. and many lovely and
mteresting animals have been so reduced in numbers that. without protection and help, they can never re-
establish themselves. If they cannot find sanctuary where they can live and breed undisturbed. their numbers
will dwindle until they join the dodo. the quagga. and the great auk on the long list of extinet creatures.

Of course, in the last decade or so much has been done for the protection of wild life: sanctuaries and reserves
have been started. and the reintroduction of species into areas where it had become extinct 1s taking place. In
Canada. for instance, beavers are now being reintroduced into certain areas by means of aero plane.

But although much 1s bemg done. there 1s still a very great deal to do. Unfortunately. the majority of useful
work in animal preservation has been done mainly for animals which are of some economic importance to
man and there are many obscure species of no economic importance which. although they are protected on
paper, are in actual fact being allowed to die out because nobody. except a few interested zoologists, considers
them important enough to spend money on.

As mankind increases year by year. and as he spreads farther over the globe burning and destroying. it is some
small comfort to know that there are certain private individuals and some institutions who consider that the
work of trying to save and give sanctuary to these harried animals 13 of some importance. It 1¢ important for
many reasons. but perhaps the best of them 1s this: man for all his genius. cannot create a species. nor can he
recreate one he has destroyed. So until we consider animal life to be worthy of the consideration and reverence
we bestow upon old books and pictures and historic monuments, there will always be the animal refugee living
a precarious life on the edge of extermination. dependent for existence on the charity of a few human beings.

Sub questions



Question Number : 1 Question Id : 68634039398 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following would prove most effective in preserving wild life?
1. More Zoos
2. Allocation of more funds
3. Sanctuaries
4. Loa against destruction of wild life
Options :
686340155601. 1
686340155602. 2

686340155603. 3
686340155604. 4

Question Number : 2 Question Id : 68634039399 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Animal species should be preserved mainly because

1. man cannot recreate a species of animal if it be destroyed

-2

. zoologists want to study them
3. they are killed by cruel people
4. they are lovely creatures

Options :

686340155605. 1

686340155606. 2

686340155607. 3
686340155608. 4

Question Number : 3 Question Id : 68634039400 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What attitude towards wild life does the author think most appropriate?

1. Sympathy

J

. Cruetly
3. Pity

4. Reverence

Options :



686340155609. 1
686340155610. 2
686340155611. 3
686340155612. 4

Question Number : 4 Question Id : 68634039401 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following types of animals does man chiefly protect?

1. Harmless animals

J

. Economically useful
3. Those without any shelter

4. Feeble animals

Options :

686340155613. 1
686340155614. 2
686340155615. 3
686340155616. 4

Question Number : 5 Question Id : 68634039402 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The wild life is about to become extinet mainly because:
1. people kill animals callously
2. there are very few places reserved for wild animals

3. people are ignorant

4. there are few institutions for preservation of wild life

Options :

686340155617. 1
686340155618. 2
686340155619. 3
686340155620. 4

Sub-Section Number : 2
Sub-Section Id : 6863401296
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634039403 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



Synonym of the word 'CELESTIAL' 1a:

1. Solar

| S

. Gralactic
3. Astral

4. Heavenly

-

Options :

686340155621. 1
686340155622. 2
686340155623. 3
686340155624. 4

Question Number : 6 Question Id : 68634039403 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Synonym of the word 'CELESTIAL' 1s:

1. Solar

| S]

. Galactic
3. Astral

4. Heavenly
Options :
686340155621. 1
686340155622. 2
686340155623. 3
686340155624. 4

Question Number : 7 Question Id : 68634039404 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blanks with appropriate prepositions from the following options:

India is one of the richest countries the world in terms of biodiversity. Due anthropogenic
activities, many species have lost their habitat and even become extent. International Union
conservation nature and natural resources has categorized with flora and fauna into eight categories.

1. in, of, to. for

[ ]

.of. to, of, m

L]

.in, for. of, to
4. . to, for, of

Options :

686340155625. 1
686340155626. 2
686340155627. 3
686340155628. 4

Question Number : 7 Question Id : 68634039404 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the following options:

India is one of the richest countries the world in terms of biodiversity. Due anthropogenic
activities. many species have lost their habitat and even become extent. International Union
conservation nature and natural resources has categorized with flora and fauna into eight categories.

1. in, of, to. for

k-2

. of, to. of, in
3.1, for. of to
4. in. to. for. of

Options :

686340155625. 1
686340155626. 2
686340155627. 3
686340155628. 4

Question Number : 8 Question Id : 68634039405 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blank with suitable word from the options given below:
Light n a straight line.

1. goes

| B

. shines
3. moves
4. travels

Options :

686340155629. 1
686340155630. 2
686340155631. 3
686340155632. 4

Question Number : 8 Question Id : 68634039405 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Fill in the blank with suitable word from the options given below:

Light n a straight line.

1. goes

| B

. shines
3. moves
4. travels

Options :

686340155629. 1
686340155630. 2
686340155631. 3
686340155632. 4

Question Number : 9 Question Id : 68634039406 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which word is not the synonym of 'Colossal'.

1. huge

| ]

. gigantic
3. connmence

4, enormous



Options :

686340155633. 1
686340155634. 2
686340155635. 3
686340155636. 4

Question Number : 9 Question Id : 68634039406 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which word is not the synonym of 'Colossal'.

1. huge

(]

. gigantic
3. conumence

4, enormous

Options :

686340155633. 1
686340155634. 2
686340155635. 3
686340155636. 4

Question Number : 10 Question Id : 68634039407 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Correct the sentence by replacing the under lined phrase:

Those who are indecisive can be readily persuading to change their mind again.

1. can be readily persuasive

| )

. can be readily persuaded
3. could be ready to persuade
4. can be ready persuading

Options :

686340155637. 1
686340155638. 2
686340155639. 3
686340155640. 4

Question Number : 10 Question Id : 68634039407 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Correct the sentence by replacing the under lined phrase:

Those who are indecisive can be readily persuading to change their mind again.

1. can be readily persuasive

-

. can be readily persuaded
3. could be ready to persuade
4. can be ready persuading

Options :

686340155637. 1
686340155638. 2
686340155639. 3
686340155640. 4

Question Number : 11 Question Id : 68634039408 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the value of

16+4=4 —3+2

| )
|
e

Options :

686340155641. 1
686340155642. 2
686340155643. 3
686340155644. 4

Question Number : 11 Question Id : 68634039408 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the value of

16+4=4 —3+2

| )
|
e

4. 15

Options :

686340155641. 1
686340155642. 2
686340155643. 3
686340155644. 4

Question Number : 12 Question Id : 68634039409 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A cardboard box of dimensions 80 em = 60 cm x 75 em is to be constructed. Find the cardboard required (in
m?) for the box.

1.4.3

[ BO)
>
=]

4. 3.06

Options :

686340155645. 1
686340155646. 2
686340155647. 3
686340155648. 4

Question Number : 12 Question Id : 68634039409 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A cardboard box of dimensions 80 ¢m = 60 cm x 75 cm is to be constructed. Find the cardboard required (in
m?) for the box.

1.4.3

| )

.4.16

4. 3.06

Options :

686340155645. 1
686340155646. 2
686340155647. 3
686340155648. 4

Question Number : 13 Question Id : 68634039410 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A fruit vendor bought apples for T 6.000. He sold 40% stock with 25% profit. another 40% stock with 15%
profit and the rest with 10% profit. Find his profit percentage.

1.21%

| B}

. 19%

. 18%

LF¥]

4.18.5%

Options :

686340155649. 1
686340155650. 2
686340155651. 3
686340155652. 4

Question Number : 13 Question Id : 68634039410 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A fruit vendor bought apples for  6,000. He sold 40% stock with 25% profit. another 40% stock with 15%
profit and the rest with 10% profit. Find his profit percentage.

1.21%

| B

. 19%

. 18%

L¥¥]

4.18.5%



Options :

686340155649. 1
686340155650. 2
686340155651. 3
686340155652. 4

Question Number : 14 Question Id : 68634039411 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Out of the three numbers. first number is twice of the second number and thrice of the third number. The
average of their reciprocals 1s 1/6. The numbers are:

1.6.3.

[ S

| Be]

C8. 4

| ]

3.12.6,4
4.18,.12.6

Options :

686340155653. 1
686340155654. 2
686340155655. 3
686340155656. 4

Question Number : 14 Question Id : 68634039411 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Out of the three numbers. first number is twice of the second number and thrice of the third mumber, The
average of their reciprocals is 1/6. The numbers are:

1.6, 3,

[ ]

| B

C8. 4

| ]

3.12.6,4
4.18,.12.6

Options :

686340155653. 1
686340155654. 2
686340155655. 3
686340155656. 4

Question Number : 15 Question Id : 68634039412 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A train runnimg at 90 km/'h crosses a 400 m long another train running towards it on parallel tracks at 80 kim/'h
in 18 seconds. How much time will it take to pass a 450 m long tunnel?

1. 28 seconds

| )

. 32 seconds

. 34 seconds

Lad

4. 36 seconds

Options :

686340155657. 1
686340155658. 2
686340155659. 3
686340155660. 4

Question Number : 15 Question Id : 68634039412 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A train running at 90 km/h crosses a 400 m long another train running towards it on parallel tracks at 80 km/h
i 18 seconds. How much time wall it take to pass a 450 m long tunnel?

1. 28 seconds

[ )

. 32 seconds

. 34 seconds

LF¥]

4. 36 seconds
Options :
686340155657. 1
686340155658. 2

686340155659. 3
686340155660. 4

Question Number : 16 Question Id : 68634039413 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
A is facing the east direction. If he turns 270° he will face:
1. North direction
2. South direction
3. West direction

4. North or South direction

Options :



686340155661. 1
686340155662. 2
686340155663. 3
686340155664. 4

Question Number : 16 Question Id : 68634039413 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A is facing the east direction. If he turns 270° he will face:

1. North direction

| ]

. South direction

Laa

. West direction

4, North or South direction

Options :

686340155661. 1
686340155662. 2
686340155663. 3
686340155664. 4

Question Number : 17 Question Id : 68634039414 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

The tenth term of the given series 4Z, 5Y. 6X. TW. will be:

1.13M

J

.13P
3.130
4.13N

Options :

686340155665. 1
686340155666. 2
686340155667. 3
686340155668. 4

Question Number : 17 Question Id : 68634039414 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The tenth term of the given series 4Z, 5Y. 6X. TW. will be:

1.13M

| ]

13P
3.130

4. 13N

Options :

686340155665. 1
686340155666. 2
686340155667. 3
686340155668. 4

Question Number : 18 Question Id : 68634039415 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the given figure find the value of x (O is the center of the given circle?

4. 65°

Options :

686340155669. 1
686340155670. 2
686340155671. 3
686340155672. 4

Question Number : 18 Question Id : 68634039415 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the given figure find the value of x (O is the center of the given circle?

2. 50°

Options :

686340155669. 1
686340155670. 2
686340155671. 3
686340155672. 4

Question Number : 19 Question Id : 68634039416 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

ZOOM is coded as 138, The code 72 will be:

1.ROOT

b2

. TAGH
3. TOST

4. TOOR

Options :

686340155673. 1
686340155674. 2
686340155675. 3
686340155676. 4

Question Number : 19 Question Id : 68634039416 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ZOOM is coded as 138, The code 72 will be:

1.ROOT

b2

. TAGH
3. TOST
4. TOOR
Options :
686340155673. 1
686340155674. 2

686340155675. 3
686340155676. 4

Question Number : 20 Question Id : 68634039417 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
2.7, 14, 23, 34,
Complete the series choosing appropriate option:
1. 36
2.43
3.47
4. 62
Options :
686340155677. 1
686340155678. 2

686340155679. 3
686340155680. 4

Question Number : 20 Question Id : 68634039417 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
2.7, 14, 23, 34,
Complete the series choosing appropriate option:
1. 36
2.43
3.47

4. 62



Options :

686340155677. 1
686340155678. 2
686340155679. 3
686340155680. 4

Question Number : 21 Question Id : 68634039418 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first general election in India was held in

1. 1950

| ]

. 1951
3. 1952
4. 1947

Options :

686340155681.
686340155682.
686340155683.
686340155684.

AW N =

Question Number : 21 Question Id : 68634039418 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first general election in India was held in

1. 1950

J

. 1951
3. 1952
4. 1947

Options :

686340155681.
686340155682.
686340155683.
686340155684.

W N =

Question Number : 22 Question Id : 68634039419 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

ILIST I (Monuments)| LIST II (Country)
Imperial palace | 1. [France

(Opera House II. [Denmark
Eiff=] Tower 111 |Australia
[Kindu Disk IV. Japan

ofofw[>

Choose the correct answer from the options given below:

1. A-IV. B-I. C-III. D-II

| )

AL B-IV. C-1. D-II
3. A-IV. B-III. C-1. D-II
4. A-IV, B-III. C-II. D-I

Options :

686340155685. 1
686340155686. 2
686340155687 3
686340155688. 4

Question Number : 22 Question Id : 68634039419 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Monuments)] LIST II (Country)
Imperial palace | 1. |[France

Opera House 1. [Denmark
Eiffel Tower 1L |Australia
[Kindu Disk IV Papan

o ofw[>

Choose the correct answer from the options given below:

1. A-IV. B-I. C-III. D-IT

[

AL B-IV. C-1, D-II
3. A-IV. B-IIL. C-I. D-II
4. A-IV. B-ITI. C-II. D-I

Options :

686340155685. 1
686340155686. 2
686340155687. 3
686340155688. 4

Question Number : 23 Question Id : 68634039420 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

When was Jana-Gana-Mana (which later became National Anthem' of India) first sung and where?

1, 24t January, 1950 in Allahabad

| S

.24th January, 1950 in Delhi
3. 26 December, 1942 in Calcutta

4. 27" December, 1911 in Calcutta

Options :

686340155689. 1
686340155690. 2
686340155691. 3
686340155692. 4

Question Number : 23 Question Id : 68634039420 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

When was Jana-Gana-Mana (which later became National Anthem' of India) first sung and where?

1. 24t January. 1950 in Allahabad

| S

.24t January, 1950 in Delhi
3. 26™ December, 1942 in Calcutta

4. 27" December, 1911 in Calcutta

Options :

686340155689. 1
686340155690. 2
686340155691. 3
686340155692. 4

Question Number : 24 Question Id : 68634039421 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement [ : Lord Mountbatten was the Viceroy when Simla conference took place.

Statement I1 : Indian Navy Revolt, 1946 took place when the Indian Satlors in the Royal Indian Navy at
Bombay and Karachi rose against the Government.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement [ and Statement IT are true
2. Both Statement [ and Statement are false
3. Statement I is true but Statement II is false

4. Statement I 1s false but Statement I1 15 true

Options :

686340155693. 1
686340155694. 2
686340155695. 3
686340155696. 4

Question Number : 24 Question Id : 68634039421 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : Lord Mountbatten was the Viceroy when Simla conference took place.

Statement II ; Indian Navy Revolt, 1946 took place when the Indian Sailors in the Royal Indian Navy at
Bombay and Karachi rose against the Government.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are true
2. Both Statement [ and Statement are false
3. Statement I iz true but Statement II is false

4. Statement [ is false but Statement 11 1s true

Options :

686340155693. 1
686340155694. 2
686340155695. 3
686340155696. 4

Question Number : 25 Question Id : 68634039422 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The gas which 1s present in both natural gas and bio-gas is

1. Methane

| S

. Carbon Monoxide
3. Hydrogen
4. Butane
Options :
686340155697. 1
686340155698. 2

686340155699. 3
686340155700. 4

Question Number : 25 Question Id : 68634039422 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The gas which is present in both natural gas and bio-gas is
1. Methane
2. Carbon Monoxide
3. Hydrogen
4. Butane
Options :
686340155697. 1
686340155698. 2

686340155699. 3
686340155700. 4

Part B: Biochemistry

Section Id : 686340776
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401297
Question Shuffling Allowed : Yes

Is Section Default? : null



Question Number : 26 Question Id : 68634039423 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following statement is true about nucleoside?

1. Nitrogenous base attached to OH of C-1' of pentose sugar

| S]

. Phosphoryl group attached to C-5' of pentose sugar

L S]

. Phosphoryl group attached to C-3' of pentose sugar

i

. Phosphate group is attached to 2' C of pentose sugar
Options :

686340155701. 1

686340155702. 2

686340155703. 3
686340155704. 4

Question Number : 26 Question Id : 68634039423 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IFaUEEs & g H 298 9 BIF 9 HYF 90 o7
1. Ao &R Uels Y[R & 1°C IR OH ¥ 93l g
2. TS T & 5°C W BIEh RIS 948 Isal ¢
3. 9ETSl T & 3°C Y BB RIET 998 Sodl ¢
4. YIS Y1 & 2'C U BIEhe HIE SISdl &

-

Options :

686340155701. 1
686340155702. 2
686340155703. 3
686340155704. 4

Question Number : 27 Question Id : 68634039424 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is an amino acid?

1. Tryptophan

| S]

. Proline
3. Lysine
4. Phenylalanine

Options :

686340155705. 1
686340155706. 2
686340155707. 3
686340155708. 4

Question Number : 27 Question Id : 68634039424 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fraferiRed & 9 19 spfiAn s 82

1. fegits

2. ieia
3, TEdH
ML i

Options :

686340155705. 1

686340155706. 2

686340155707. 3
686340155708. 4

o

Question Number : 28 Question Id : 68634039425 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Which of the following antibodies can cross the placenta?

1. 1gA

! -l
—
g
]

4.1gE

Options :
686340155709. 1



686340155710. 2
686340155711. 3
686340155712. 4

Question Number : 28 Question Id : 68634039425 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fgfafaa 5 9 o 91 uiaRalt 31 & UR 91 9%l g2

1.IgA

| B

e
3.IgM
4. IgE

Options :

686340155709. 1
686340155710. 2
686340155711. 3
686340155712. 4

Question Number : 29 Question Id : 68634039426 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the net charge of glutamate at pH 77

1]
2.0
Mg
4. -1
Options :

686340155713. 1
686340155714. 2
686340155715. 3
686340155716. 4

Question Number : 29 Question Id : 68634039426 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



pH 7 TR TUCHE TR b < F1 8idl 87

1.+1
2.0
3. +2
4, -1
Options :

686340155713. 1
686340155714. 2
686340155715. 3
686340155716. 4

Question Number : 30 Question Id : 68634039427 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Non-active protein part of an enzyme that requires cofactor for activation is

1. apoenzyme

2

. holoenzyme
3. coenzyme
4. ribozyme

Options :

686340155717. 1
686340155718. 2
686340155719. 3
686340155720. 4

Question Number : 30 Question Id : 68634039427 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ot =agn o1 ifauidi= wnt. o aftadr & o U8 RS ot SawWsdigidl 6. 98 o -
1. QUICSIEH

 BIIgSIEH

3. PICSIEH

4. TEEISEH

Options :
686340155717. 1

[ ]



686340155718. 2
686340155719. 3
686340155720. 4

Question Number : 31 Question Id : 68634039428 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Insulin-dependent glucose uptake by adipose tissue is the result of

1. cotransport of glucose with sodium against concentration gradient

| S

. simple diffusion of glucose down the concentration gradient
3. ATP-dependent transport of glucose against concentration gradient
4. transfer of GLUT transporters from intracellular vesicles to cell membrane

Options :

686340155721. 1
686340155722.2
686340155723. 3
686340155724. 4

Question Number : 31 Question Id : 68634039428 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

aH HA® gRI SYeH W MR TSI $1 Saeiyor, gRomg § —
1. TS JaUrdl & oo Sifead & A1y 7o &1 95-9Ras |
2. Higdl YGUIdT & 1Y Tehisl T JrHET TR
3. Figdl Yqudl & [0%g TWDIS BT ATP ETRT T8
4. SRISIRDTY giesmrad 4 SHIfe] feel T GLUT URaes &f HIaRu]

)

Options :

686340155721. 1
686340155722. 2
686340155723. 3
686340155724. 4

Question Number : 32 Question Id : 68634039429 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following motor proteins is involved in intracellular transport along microtubules?

1. Myosin

| S]

. Kinesin
3. Dynein
4. Both Myosin and Dynein
Options :
686340155725. 1
686340155726. 2

686340155727. 3
686340155728. 4

Question Number : 32 Question Id : 68634039429 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FEfaREd IRE (motor) WIEI H & B ged Afrarsit # s iiay uRas & w82
1. AR
 PIEARA
3. ST&AH

[ )

fea

Options :

686340155725. 1
686340155726. 2
686340155727. 3
686340155728. 4

Question Number : 33 Question Id : 68634039430 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Which of the following cellular organelle is involved in Tay-Sachs disease (TSD)?

1. Golgi

J

. Lysosomes
3. Endoplasmic reticulum

4. Mitochondria

Options :
686340155729. 1



686340155730. 2
686340155731. 3
686340155732. 4

Question Number : 33 Question Id : 68634039430 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FEfaigd & $F 91 SIS (Tay-Sachs) I (TSD) § FiHART 87

]-I L4 51
3. SIS ST
4. H %é @ I%qf

Options :

686340155729. 1

686340155730. 2

686340155731. 3
686340155732. 4

[ ]

Question Number : 34 Question Id : 68634039431 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

During DNA repair , which of the following enzymes 1s involved i phosphodiester bond formation 7

1. DNA polymerase

12

. DNA ligase

LFN]

. Phosphodiesterase
4. Primase

Options :

686340155733. 1
686340155734. 2
686340155735. 3
686340155736. 4

Question Number : 34 Question Id : 68634039431 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



31 U9 U o Imd & e, FEfeiad § € oF 91 tegs BiEpissueR gy Hat ¥ g g
. BLEA.E Uid A
2. SILUAU TIgiS

3, IR ISISURRIUS]

4. UrEhS

Options :

686340155733. 1
686340155734.2
686340155735. 3
686340155736. 4

—

Question Number : 35 Question Id : 68634039432 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What is not true about endotoxin?

1. Endotoxin is heat-stable

J

. Endotoxin 18 strongly immunogenic
3. Endotoxin is present in gram negative bacteria
4. Endotoxin is a lipid in nature

Options :

686340155737. 1
686340155738. 2
686340155739. 3
686340155740. 4

Question Number : 35 Question Id : 68634039432 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Fafafea o sraiidy & 9) H #7981 981 o7
1. Sfolaray SE-fRR §
2. ollafay geg HfaRards &

-

3. S{=reilalay U1d Hifed Silam] d URIod &

1. roffatay ST TS F S E

Options :



686340155737. 1
686340155738. 2
686340155739. 3
686340155740. 4

Question Number : 36 Question Id : 68634039433 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Upon re-exposure to a previous pathogen. which immune response will be most likely the fastest one?

1. Innate immunity

b2

. Complement activation

LFN]

. Adaptive immunity and immunological memory
4. Killer T cells

Options :

686340155741. 1
686340155742. 2
686340155743. 3
686340155744. 4

Question Number : 36 Question Id : 68634039433 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS & G: YU TR, S 9 URET S1d7 & digad 514 & Ir1a1 gl o2
1. TSl FIcRET

o

2. R Hich gl
3. SFpior AfcRan 37 ufeReft Jfa

4. 9P T-HIRDHIT

Options :

686340155741. 1
686340155742. 2
686340155743. 3
686340155744. 4

Question Number : 37 Question Id : 68634039434 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is true about MHC class ITI7

1. Present extracellular peptides to CD8+ cells

| S]

. Present intracellular peptides to CD8+ cells
3. Present extracellular peptides to CD4+ cells
4. Present intracellular peptides to CD4+ cells

Options :

686340155745. 1

686340155746. 2

686340155747. 3
686340155748. 4

Question Number : 37 Question Id : 68634039434 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

MHC @ (class) 11 & SR H &1 4 82
. STe] SIFT UPIEs S cD 8+ HImsi § ufRa e g
2. 3T TS UPIES B €D 8+ HIHI3H H U@ giar g
. 9T SIS UP15S B CD 4+ FIRI@TH & JufUd g 2|
T IS UPIES BT €D 4+ HIHTA & SufRE g g1

—

-]

[#¥]

fea

Options :

686340155745. 1
686340155746. 2
686340155747. 3
686340155748. 4

Question Number : 38 Question Id : 68634039435 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Patients with Galactosemia are advised not to take dairy products because

1. they have defective B-galactosidase and cannot digest lactose in dairy products

]

. they cannot metabolize galactose digestion product of lactose

5]

. they cannot digest the fats present in dairy products
4. they cannot digest the proteins present in dairy products

Options :
686340155749. 1



686340155750. 2
686340155751. 3
686340155752. 4

Question Number : 38 Question Id : 68634039435 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TG I & 31T 1 ST SATEl Bl T8l o B e & S| 8. 7 i -

1. 399 GIYgad p-IICae [HISS o oldl & SR d STRI JdmEl § SUIid decis & Urad ol &R 9 |

2. d daelsl & 3d1g odelsl &1 UraH. 3999y Tol &3 Udhd |
3.0 SO% Idel H 39T 99 &1 994 o) ®1 9%d
4. 9 SR 3amEl ¥ 3ufiyd UidH &1 e T8l &Y 9%d

Options :

686340155749. 1
686340155750. 2
686340155751. 3
686340155752. 4

Question Number : 39 Question Id : 68634039436 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Glycerol kinase is not expressed in

1. adipose tissue

-

2. liver
3. kidney
4. heart

Options :

686340155753. 1
686340155754. 2
686340155755. 3
686340155756. 4

Question Number : 39 Question Id : 68634039436 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



eRRIE P59 S Hoga T8l glol ;

1. TSTS Sadi 8
2.9%d
3. 99 (o) §
4. ggH

Options :

686340155753. 1

686340155754. 2

686340155755. 3
686340155756. 4

Question Number : 40 Question Id : 68634039437 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In prolonged starvation. a minimum glucose level is maintained for supplying glucose to brain and RBCs. This
is achieved by

1. glycogenolysis in liver

| B

. gluconeogenesis in liver and kidney
3. glycogenolysis mn muscle
4. gluconeogenesis in muscle and liver

Options :

686340155757. 1
686340155758. 2
686340155759. 3
686340155760. 4

Question Number : 40 Question Id : 68634039437 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T Y I I Y6 & YT H, AfETss 3R R.B.Cs &I SIS B AU o (o, a0 e sl &1 ¥R
ST @ ST & | T WIS {ohal S g -

1. T5d ¥ S SIoHE Y gRI

Id SR gFh (Ya) U g g

3. U § e s ioHIae Y gR

4, UM SR TFd 1 @ Falom R gRI

Options :

686340155757. 1
686340155758. 2
686340155759. 3
686340155760. 4

[

Question Number : 41 Question Id : 68634039438 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Which of the following is a cis-acting element?

1. cAMP response binding protein

J

. Operator
3. Repressor
4. Terminator
Options :
686340155761. 1
686340155762. 2

686340155763. 3
686340155764. 4

Question Number : 41 Question Id : 68634039438 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Feffea g 9o te 9N faFoms a4 §
1. cAMP S{fehaT S HIcTH
2. YT

3. GHAERI

o



Options :

686340155761. 1
686340155762. 2
686340155763. 3
686340155764. 4

Question Number : 42 Question Id : 68634039439 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Oligomycin blocks the electron transport chain by
1. mhibiting the complex III
2. inhibiting ATP synthesis by preventing influx of protons through ATP synthase
3. mhibiting the complex IV
4. inhibiting the complex III and IV both
Options :
686340155765. 1
686340155766. 2

686340155767. 3
686340155768. 4

Question Number : 42 Question Id : 68634039439 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
ARSI SHag URagH ad B a06 P adl § -
1. DI 11 DI TS G DID
2. ATP RIS & GRI. W & SITHA @I AD DY, ATP LU ] 3Haes Bl
3. DI IV Bl HTSG PID
4. PR 111 AR IV, G| DI 3T55 DD

Options :

686340155765. 1
686340155766. 2
686340155767. 3
686340155768. 4

Question Number : 43 Question Id : 68634039440 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many ATP molecules are produced for each molecule of FADH?2 oxidized via the respiratory chain?

1. 05

1J
e

3.1.5
4.2

Options :

686340155769. 1
686340155770. 2
686340155771. 3
686340155772. 4

Question Number : 43 Question Id : 68634039440 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O 4@dl & GRI YUD FADH2 & 3U[ U= ¥ e+ ATP U] 3= 6ld 67

1.05

b
—

315

4.2
Options :
686340155769. 1
686340155770. 2

686340155771. 3
686340155772. 4

Question Number : 44 Question Id : 68634039441 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
In E. coli. pur repressor regulates the expression of more genes as compared to lac repressor because
1. pur repressor binds to DNA without corepressor
2. pur repressor 18 expressed at a much higher level
3. there are more pur operator sequences in E. coli genome
4. pur repressor is expressed at a much lower level
Options :

686340155773. 1
686340155774. 2



686340155775. 3
686340155776. 4

Question Number : 44 Question Id : 68634039441 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2. P 1 Pur R (R SHABRY), 0P SHAGRI DI qa1 1 AT S o Fom &1 siftoue ol g,
e .

1. R GHADRI, f671 98 eHBRI & 21 U7 T H 316y SRl &
2. R ETHBR] HUP $d R WR o iars |

3. DIAls & oHE T H¥E Pur (YR) WD H 6id & |
4. TR FHTHRT e 19 TR W fiorad gidl g

(%]

Options :

686340155773. 1
686340155774. 2
686340155775. 3
686340155776. 4

Question Number : 45 Question Id : 68634039442 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Glomerular filtration rate 1s determined by creatinine clearance test and inulin clearance test. Which of the
following statements 1s true about GFR?

1. Inulin clearance gives the exact measurement of GFR.

2

. Creatinine clearance gives the exact measurement of GFR.
3. Inulin clearance overestimates GFR.

4. Both inulin and ereatinine clearance overestimate GFER.

Options :

686340155777. 1
686340155778. 2
686340155779. 3
686340155780. 4

Question Number : 45 Question Id : 68634039442 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ﬁ%ﬁ;ﬂﬁ&?aﬂﬁaﬁmﬁ?@:ﬁ?ﬁmﬂ SiTd iR gfe FSIeA wiid gRI Sl 81 ol U% 3R &

1. Zf e, GFR &1 3T ST HeH Sl 8
. forufeia Feares. orr &1 aurd S eE FRar g
3. §fe sI1g GFR @1 aRafdaal 9 siftie SFHEH adT 8|

4. ZfeF 3R fbufe== &1 &1 w1 GFR &1 aRadidal S saH
Sd gl
Options :
686340155777. 1
686340155778. 2

686340155779. 3
686340155780. 4

| §)

Question Number : 46 Question Id : 68634039443 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In hepatocellular disease
1. only conjugated bilirubin levels are increased
2. only unconjugated bilirubin levels are increased
3. both conjugated and unconjugated bilirubmn levels are increased
4. conjugated bilirubin levels are increased and unconjugated bilirubin levels are decreased
Options :
686340155781. 1
686340155782. 2

686340155783. 3
686340155784. 4

Question Number : 46 Question Id : 68634039443 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BUCIBIR® g I H Bl © -
1. had Hgfad fadiele & wR H g
2. Fad EYFd fediefed & 'R 1 ofg
3. Tgfitrd SR gy fedieieq, sl 'R H gfa
4. T fqefieie & TR O g SR SigRid f9dieles & wr o ol

)

Options :

686340155781. 1
686340155782. 2
686340155783. 3
686340155784. 4

Question Number : 47 Question Id : 68634039444 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

AST / ALT ratio is decreased in

1. myocardial infarction

-2

. acute hepatocellular damage
3. damaged kidney
4. both damaged kidney and heart

Options :

686340155785. 1
686340155786. 2
686340155787. 3
686340155788. 4

Question Number : 47 Question Id : 68634039444 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AST / ALT 3/9Td H 4t g1t 81

1. f&d &1 gR1 (AP Td SHIHeH)
2. T BUCI DITDIY &

3. 7] I &1

4. 5@ IR T, SFI &t affay

)

Options :



686340155785. 1
686340155786. 2
686340155787. 3
686340155788. 4

Question Number : 48 Question Id : 68634039445 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

At 50% saturation. each Hb molecule has bound.

1. one O, molecule
2. two O; molecules
3. three O; molecules
4. four O, molecules

Options :

686340155789. 1
686340155790. 2
686340155791. 3
686340155792. 4

Question Number : 48 Question Id : 68634039445 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

50% Sgedl § Y Hb 311] 3{Upsii 1 Helg &e= SRl 8

1.TH 0,
2.910,
3.9 0,
4.9R 0,

Options :

686340155789. 1

686340155790 2

686340155791. 3
686340155792. 4

Question Number : 49 Question Id : 68634039446 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Internal respiration occurs in
1. nose
2. lungs
3. heart
4. tissue throughout the body
Options :
686340155793. 1
686340155794. 2

686340155795. 3
686340155796. 4

Question Number : 49 Question Id : 68634039446 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HTIRT YT 8IS

1.8 |

| ]

. PUpY (bHs! H)
St
Ul YRR & Fdel o

LN ]

i

Options :

686340155793. 1
686340155794. 2
686340155795. 3
686340155796. 4

Question Number : 50 Question Id : 68634039447 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following factors affects the affinity of hemoglobin for oxygen?

1.pH

| S]

. Temperature
3. Binding of 2.3-bisphosphoglycerate
4. pH, temperature and binding of 2.3-bisphosphoglycerate

Options :
686340155797. 1



686340155798. 2
686340155799. 3
686340155800. 4

Question Number : 50 Question Id : 68634039447 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fefaied § 4o 98 SR$ sEralied @ Haie- & 91y T/ iey= & gHIfad Sdr?

1.pH

| ]

2.3 Eh NS RNE &1 fTde
. pH. TT9HH 3R 2.3-Imrapiasine &1 amEe=

Options :

686340155797. 1
686340155798. 2
686340155799. 3
686340155800. 4

[F¥]

o

Question Number : 51 Question Id : 68634039448 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

To solve the mystery of spoilage of wine. Pasteur observed yeast and bacteria in the fermented grape juice
(wine). Through a series of experiments, he proved

1. yeast and bacteria are required for fermentation of grape juice/ alcohol formation
2. yeasts is required for fermentation/alcohol formation and bacteria result in gpoilage of wine
3. bacteria are required for alcohol formation and yeasts result in spoilage of alecohol
4. both yeast and bacteria result in spoilage of alcohol
Options :
686340155801. 1
686340155802. 2

686340155803. 3
686340155804. 4

Question Number : 51 Question Id : 68634039448 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IRTE & B & Yo & FHIUH & FHIUE & 60 UieER - St ofR & 39 @RE) 3 4w iR
SHIaTup3fi &1 Hafur foan| warT & Hol § 38+ g foar e

1. 3R & 39 ¥ Ui d & [0 & (70 dRe 3R Siiarusi gR1 fdva Sa=as ¢

2. U, faruaH & forg/ Uemled Halur & oy srawas ¢ Sale siiam] TR & 469 Ygard ol
SiTaT] U igd HH10 & U Siavae & 9die 4R Uedigd & %9 Ugard 5 |

4. W 3R SRIRALL SHI Uehled B T4 Ugald o |

-
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Options :

686340155801. 1
686340155802. 2
686340155803. 3
686340155804. 4

Question Number : 52 Question Id : 68634039449 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Penicillin, the first found natural antibiotic acts by

1. inhibiting protein synthesis

2

. inhibiting cell wall synthesis

5]

. inhibiting DNA replication

=y

. digrupting the cell membrane
Options :

686340155805. 1

686340155806. 2

686340155807. 3
686340155808. 4

Question Number : 52 Question Id : 68634039449 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YA 1 vioifds UiedE | s axare:
1. UIdH H=eiyul & 3{a3ie gRI
2. DIfRepT il HAWU § HaRIY gRI
B T T HfplagT | s@iiy g1
. BRI {3l B! 7P B

)

L¥¥]
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Options :

686340155805. 1
686340155806. 2
686340155807. 3
686340155808. 4

Question Number : 53 Question Id : 68634039450 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Some microbes survive or grow at very high temperatures because of
1. heat-shock protein synthesis
2. molecular chaperones to prevent or repair protein denaturation
3. thermostability of enzymes

4. heat-shock protein synthesis, molecular chaperones to prevent or repair protein denaturation
and thermostability of enzymes

Options :

686340155809. 1
686340155810. 2
686340155811. 3
686340155812. 4

Question Number : 53 Question Id : 68634039450 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P YeH6lla 9gd @ argeH W Ul wifad 35d & 91 91E ®vd 8. Hild.
1. Y- SATHTd HIe T HEuor

2. Ui MiSpae i § g=1a a1 5d & U sifvas IqRan

 ToTgr Pl a9l

4, FURIG T

Options :

686340155809. 1
686340155810. 2
686340155811. 3
686340155812. 4

)
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Question Number : 54 Question Id : 68634039451 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who was the first scientist to prove the Germ Theory of disease?

1. Robert Koch

-t

2. Edward Jenner
3. Louis Pasteur
4. Joseph Lister

Options :

686340155813. 1
686340155814. 2
686340155815. 3
686340155816. 4

Question Number : 54 Question Id : 68634039451 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT S MY g i g S 9Tl uy™ a3-ie 47
1. Jgc ®ig
USde o R
Tl UIER
4. S oy
Options :
686340155813. 1
686340155814, 2

686340155815. 3
686340155816. 4

[ ]

[#¥]

Question Number : 55 Question Id : 68634039452 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

In the polarized epithelial cells of PCT of kidney. the difference in apical and basolateral membrane is
maintained by

1. tight junctions

2. microvilli

3. desmosomes

4. hemidesmosomes

Options :



686340155817. 1
686340155818. 2
686340155819. 3
686340155820. 4

Question Number : 55 Question Id : 68634039452 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ga® I PCT B! Yard IUbal HILep1al of 2y SR urs sk fSicadl 5 -3 &1 olfdl 6 -
1. T6 Hitgl gr

 HTgepifac GRT

3. S gRI

4. HISHIG gNI

[ ]

Options :

686340155817. 1
686340155818. 2
686340155819. 3
686340155820. 4

Question Number : 56 Question Id : 68634039453 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

If a double-stranded DNA has 30% Guanine. what will be the percentage of Adenine?

1.40%

2
|5
=
=1
[= B

4. 15%

Options :

686340155821.
686340155822,
686340155823.
686340155824,

AW N =

Question Number : 56 Question Id : 68634039453 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U fgIsld 1 UH UH 30% @144 §1 598 TS &1 uld=radi &1 gri?

1.40%

4.15%

Options :

686340155821.
686340155822.
686340155823.
686340155824.

AW N —

Question Number : 57 Question Id : 68634039454 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Recognition sequence of Restriction Endonuclease : BamH]1 1s

- AAGCTA—-
" ek TTOGAT

—GGATCC—
—CCTAGG —

| B

—GTACAG—
—CATGTC —

4 —AGATCA—
' —TCTAGT —

Options :

686340155825. 1
686340155826. 2
686340155827. 3
686340155828. 4

Question Number : 57 Question Id : 68634039454 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e USIIeus BamH1 BT GHI&TIETH 94 o

——AAGCTA—
" e TTOGAT

—GGATCC—
—CCTAGG —

b

—GTACAG—
- —CATGTC—

, —AGATCA—
" —TCTAGT —

Options :

686340155825. 1
686340155826. 2
686340155827. 3
686340155828. 4

Question Number : 58 Question Id : 68634039455 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Which of the following statements 1s not correct?

1. The presence of an enzyme has no effect on AG"
2. At equilibrium, the rate constants of forward and backward reaction are equal.
3. Active site histidyl residues frequently aid catalysis by acting as proton donors and aceeptors.
4. Enzymes lower the activation energy for a reaction.

Options :

686340155829. 1

686340155830. 2

686340155831. 3
686340155832. 4

Question Number : 58 Question Id : 68634039455 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
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Options :

686340155829. 1
686340155830. 2
686340155831. 3
686340155832. 4

Question Number : 59 Question Id : 68634039456 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In hypothetical enzymatic reaction
ENZyme BNZYyme

A— B——2—C
the end product C is allosteric inhibitor of Enzyme 1. C will also regulate the activity of Enzyme 1 by

1. competitive inhibition

[ ]

. feedback inhibition

. irreversible inhibition

Lad

4. competitive inhibition and irreversible inhibition both

Options :

686340155833. 1
686340155834. 2
686340155835. 3
686340155836. 4

Question Number : 59 Question Id : 68634039456 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ud ddbicdd Uarsd fufeha
enzZyme ENZYyIme

A ‘ B : # )

gaﬁﬁdmlqc. USEH 1 &1 TARC NS Hau®d g1 C. UaTsH 1 &t fhareitadr &1 fuae of &3ar

1. Tt SRty grRI
2. WidTde SfaRie® gRl

3. 3P ALY ARIYD GRI

4. Tl SaRIY SRSISHHUNY HARIUD GRI

Options :

686340155833. 1
686340155834. 2
686340155835. 3
686340155836. 4

Question Number : 60 Question Id : 68634039457 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following elements binds to protein and forms a eritical DNA binding motif?

1. Manganese

| S]

 Zine
3. Cobalt
4. Copper

Options :

686340155837. 1
686340155838. 2
686340155839. 3
686340155840. 4

Question Number : 60 Question Id : 68634039457 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[Frafeiga ¥ & &9 91 d@ Ui U siide= $dl & 3R J5@yUl DNA 364 & 3517 &I gl &dl 52
1. IS

2. 5

3. Pl

-

4 Fh .

Options :

686340155837. 1
686340155838. 2
686340155839. 3
686340155840. 4

Question Number : 61 Question Id : 68634039458 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Kwashiorkor disease is linked with insufficient intake of

—

. carbohydrates

| ]

. proteins

3. vitamin C

e

. electrolytes
Options :
686340155841. 1
686340155842. 2

686340155843. 3
686340155844. 4

Question Number : 61 Question Id : 68634039458 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
BIRARSR I H1 HaY fFaed saaid sy ©:
1. FEgBoC
2. Ui
3. faeii1 ¢
4. gAIASEH

Options :

)



686340155841. 1
686340155842. 2
686340155843. 3
686340155844. 4

Question Number : 62 Question Id : 68634039459 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following groups consists of only aromatic compounds?

1. Tyrosine. Threonine and Phenylalanine

J

. Phenol, Tyrosine and Phenylalanine
3. Phenol. Histidine and Tryptophan
4. Tyrosine. Phenylalanine and Proline

Options :

686340155845. 1

686340155846. 2

686340155847. 3
686340155848. 4

Question Number : 62 Question Id : 68634039459 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
[Frafeied gyl @ 4 o4 U1 uyg sad 914 (W) D! o182
1. TRRIRA. Ui+ SR hrgauer-i
2. BT, SRR 3R rga-E
IR, B8 SR ¢t

i

4. TORIFEE, fipargaue=A 3R Arei=

)
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Options :

686340155845. 1
686340155846. 2
686340155847. 3
686340155848. 4

Question Number : 63 Question Id : 68634039460 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements 1s true?

1. Molecular weight is expressed m Daltons.

| ]

. Molecular mass is expressed in Daltons.
3. Relative molecular weight 1s expressed in Daltons.
4. Relative molecular mass is expressed in Daltons.
Options :
686340155849. 1
686340155850. 2

686340155851. 3
686340155852. 4

Question Number : 63 Question Id : 68634039460 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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fea

Options :

686340155849. 1
686340155850. 2
686340155851. 3
686340155852. 4

Question Number : 64 Question Id : 68634039461 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Molarity 1s a better way of expressing the concentration of solution as compared to gram percent especially

1. under all conditions

b2

. for anhydrous molecules

LFN]

. for molecules with different hydrated states
4. for all solids and liquids

Options :
686340155853. 1



686340155854. 2
686340155855. 3
686340155856. 4

Question Number : 64 Question Id : 68634039461 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[t faeae 1 Higdl &1 ifieed S & [0 9 9ia9d &1 o 3 AleRdl U 98 axio] 6. 5l
IGRIEGES

1. gt gifRufoar
[Aeieltg sopsi & ferg

3. faftrst Siefia srgemaif ot 3o3if & forg
4. 91 319 iR %al & e

| )

Options :

686340155853. 1
686340155854. 2
686340155855. 3
686340155856. 4

Question Number : 65 Question Id : 68634039462 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Limmeweaver-Burk plot of a viral enzyme in presence of two drugs 1s shown here. Which of the following
statements regarding the actions of drugs is true?

A. Drug A acts as competitive inhibitor.
B. Drug B acts as competitive inhibitor.
C. Drug A acts as non-competitive inhibitor.
D. Drug B acts as non-competitive inhibitor.

l.Aand B

| ]

Aand D

3. BandC

4. CandD



Options :

686340155857. 1
686340155858. 2
686340155859. 3
686340155860. 4

Question Number : 65 Question Id : 68634039462 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TEl al 379 &1 SURRyc I faururdiy uogd &1 igdiar 9o Wile STl 81 59 &1 fobar & fog
Feffed s doH w8l 82

A. 579 A U5 Tl sfaRiy® ot e o axal
B. S B UF W SARIYT P e P Bl ©
C. $79 A TS el @RIy Pl avg P H3dl 6
D. 3 B US el S{aR1e® $I avg B1 Bl §

Hid U U [doedi 5 U 9el 3w &1 944 I

1. Pdd A 3R B
2. HIA A IR D
3. HadB AR C
4. Had C AR D

Options :

686340155857. 1

686340155858. 2

686340155859. 3
686340155860. 4

Question Number : 66 Question Id : 68634039463 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements. one is labelled as Assertion (A) and the other is labelled as Reason (R)
Assertion (A) : During starvation. when f-oxidation of fatty acids is predommant in liver. acetylCoA formed
enters the citric acid cyele.

Reason (R) : AcetylCoA must combine with oxaloacetate to gain entry to the citric acid cycle.

In the light of the above statements, choose the most appropriate answer from the options given below.

ok

. Both (A) and (R) are correct and (R) is the correct explanation of (A)

)

2. Both (A) and (R) are correct but (R) is not the correct explanation of (A)

L)

. (A) 15 correct but (R) is not correct
4. (A) 1s not correct but (R) is correct

Options :

686340155861. 1
686340155862. 2
686340155863. 3
686340155864. 4

Question Number : 66 Question Id : 68634039463 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 3 H2F G U B U 1B (Assertion A) & & H 1RG0 ¢ 1 G8R1 395 BRI (Reason R) &
F0H
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Rifeds 3 9 © Wa9 Hdl o

PRUIR : TR CoA B! I¢H 31 9p ¥ WA U & (01U Saagyice & 91y 3§y S 9ol
SR DY B el H. [ 94U 70 fdeedl § ¥ 98! Sk &1 98- Hifoil «

1. A dR R A U8 € IR R A TGSl AT ©

2. A SR R G Ugl 6. dfbT R. A B el ARHA T8l &
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4 ATEI TR TR EE B

Options :

686340155861. 1
686340155862. 2
686340155863. 3
686340155864. 4

Question Number : 67 Question Id : 68634039464 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



Given below are two statements. one is labelled as Assertion (A) and the other is labelled as Reason (R) :
Assertion (A) : Maternal blood O, saturation 1s quite low in placenta. Even at this lower saturation. O 1s
readily transferred to fetal blood.

Reason (R) : Fetal hemoglobin binds BPG less strongly. thus having higher affimty for O, as compared to
adult hemoglobin.

In the light of the above statements. choose the most appropriate answer from the options given below.

—

. Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

2

. Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)

[F%]

. (A) 15 correct but (R} is not correct

Y

. (A) 1s not correct but (R) is correct

Options :

686340155865. 1
686340155866. 2
686340155867. 3
686340155868. 4

Question Number : 67 Question Id : 68634039464 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 Bl 2 (ST T 6 U 3B (Assertion A) & &0 H [o1Gd ¢ 0l g8 3UD HRUT (Reason R) &
=0T,

HITPYUA A - T HRT T A1 3 BT 0, YJia 95 HH el 6. a6 o 28 0 Ygwdl ¥ 0,. YU & W&

o 3t 9 wEaid s et gl

HRUIR : YUITT SHTCIEE BPG & T &H ogd AEY HRdl ¢, fored 598 o & graiad o
e 0, & ufa 1fie T e g 2

IRIad YA & AP H, A [T T [dhedl § U Tal IR &1 9499 DIl ;

1. A R R M 961 & SR R. A D] HEl HRAT T

A SRR EF T8 8. AR, A S T8l A 781 §
ATEE AR T AR
ATEI TS, PR WE ®

Options :

686340155865. 1
686340155866. 2
686340155867. 3
686340155868. 4

| )

[#%]

s

Question Number : 68 Question Id : 68634039465 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements. one is labelled as Assertion (A) and the other 15 labelled as Reason (R)
Asgsertion (A) : Insulin acts on multiple tissues as compared to glucagon.

Reason (R) : Insulin 1s lipid soluble and easily passes through cell membrane of target cells.

In the light of the above statements. choose the most appropriate answer from the options given below.

—

. Both (A) and (R) are correct and (R) is the correct explanation of (A)

| ]

. Both (A) and (R) are correct but (R) is not the correct explanation of (A)

Lad

. (A) 1s correct but (R) 1s not correct
4. (A) 1s not correct but (R) 1s correct

Options :

686340155869. 1
686340155870. 2
686340155871. 3
686340155872. 4

Question Number : 68 Question Id : 68634039465 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 3l B2 ST U §: U STEHYUT (Assertion A) & & T ToRGd © O G8R1 399 BRI (Reason R) &
EqH -

HYHUT A T B HU&, Sgfer ;;ﬁtgm &ao| @ d¥g P Bl 6.

d}I{UI%R - SYIeH a1 | YRl sidl 63k gg e SIfm1sl & ifkreT et # s 3 ur ga
SIarg |

SWRIFd BYF & ATl H, = 30 7 fabedl § 9 ¥el 9Tk &1 907 DI .

AR REHI T € AR R A D HEl A ©

A SRR EHI U8l 5. AfbR. A B! T5I AN 5l §
ATER AfpTR TS SR

4 ATEI TR iR TE B

Options :

686340155869. 1
686340155870. 2
686340155871. 3
686340155872. 4

—

b

[#¥]

Question Number : 69 Question Id : 68634039466 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements. one is labelled as Assertion (A) and the other is labelled as Reason (R) :
Asgsertion (A) : Oxidative phosphorylation—the synthesis of ATP from ADP and inorganic phosphate requires
SnErgy.

Reason (R) : The energy for oxidative phosphorylation 1s provided by the proton gradient generated during
electron transport chain.

In the light of the above statements, choose the most appropriate answer from the options given below.

jany

. Both (A) and (R) are correct and (R) is the correct explanation of (A)

| )

. Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)

5]

. (A) 1s correct but (R) 1s not correct

ey

. (A) 1z not correct but (R) is correct

Options :

686340155873. 1
686340155874. 2
686340155875. 3
686340155876. 4

Question Number : 69 Question Id : 68634039466 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 3 A QU U B U 1@ (Assertion A) & & H 1RG0 § O 8% 39% BRI (Reason R) &
=05

AfHYT A - AT BRBRISHAY — ATP 3R PERS BIEhe ¥ ADP & TN & o1 ol &t
avgEHargd ol

FRUIR : H@%ﬁﬁﬁ‘@ﬁ?@?ﬁ%%ﬁﬁ‘ﬁ@qwm%ﬁﬂ?mmﬁﬁ@
& ®I Sl g

SRS FYF & 3P |, 3 U 70 fasedi § O Og! IR &1 994 Sl

1. A 3R R SH TEI € IR R. A T Jel TS &
2. A 3R R &F 981 €. AfT R AT U8l IREN T8l ©
ATHE afpIr I A ?
4 ATEITETE dfpTR G
Options :
686340155873. 1
686340155874, 2

686340155875. 3
686340155876. 4

%]

Question Number : 70 Question Id : 68634039467 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements. one is labelled as Assertion (A) and the other is labelled as Reason (R) :
Assertion (A) : Glucose gets trapped in extrahepatic tissues and does not move out of the cell.

Reason (R) : Glucokinase irreversibly phosphorylates glucose to glucose-6-phosphate in extrahepatic tissues.
There are no transporters for glucose-6-phosphate and glucose gets trapped in extrahepatic tissues.

In the light of the above statements, choose the most appropriate answer from the options given below.

ok

. Both (A) and (R) are correct and (R) is the correct explanation of (A)

)

2. Both (A) and (R) are correct but (R) is not the correct explanation of (A)

L)

. (A) 15 correct but (R) is not correct
4. (A) 1s not correct but (R) is correct

Options :

686340155877. 1
686340155878. 2
686340155879. 3
686340155880. 4

Question Number : 70 Question Id : 68634039467 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 3 H2F QU U B U IV (Assertion A) & & H 1RG0 & O 58RI 394 BRI (Reason R) &
LS

HfHYA A : T Tal sfafvad gufc® SHadi § TUEId 6l oildl § SIR ST I a6 Aa! ordl|

®RUR : 3HfdRed gulcs Gdadl § IHIHTg1o BT BIEpRISAC This I b Iu-6-hlehe §

ST & | T Io1-6-BIRUE B HIg IIaled = g1 I g6 AN guicd Had| H Gdeid ol ol &
SWRIGd HYU & 3l |, 1= f3u 7 faw el & ¥ T8t 9wk &1 9g-1 Fifeu .

1. A dR R 3 981 € IR R AP GEI AT ©

A SRR G gl 5. Al R. A DI Hg! IR 51 &
ATEE AfpTR IS SR

4 ATEI T iR TS ®

Options :

686340155877. 1
686340155878. 2
686340155879. 3
686340155880. 4

b

[#¥]

Question Number : 71 Question Id : 68634039468 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements. one is labelled as Assertion (A) and the other 15 labelled as Reason (R)
Asgsertion (A) : Salt 1s added as a preservative for storage of meat.

Reason (R) : Salt creates hypertonic environment and most bacteria cannot grow in hypertonic media.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation of (A)
3. (A) 1s correct but (R) 1s not correct

4. (A) 1s not correct but (R) 1s correct

Options :

686340155881. 1
686340155882. 2
686340155883. 3
686340155884. 4

Question Number : 71 Question Id : 68634039468 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 3l H2F S U §: U 1Y (Assertion A) & &1 H o190 © O G8R1 395 SR (Reason R) &
FO0H -

DU A - HIG P YSRUI & [0, TH® BT uRRerd & &u § e S g

PRUR : 706 UH IR ATaIaRul daR Sl ¢ SR e 9 oilary] S{idureR] 9red § g 7ol &%
T |

SWRIGd BYE & A |, A4 {40 70 [dhedl § I I8! 3R &1 994 Difal

AR REH TE T AR R AP UGl AT §

A SRR EHI 981 5. Afb R. A B T8l AR a1 §
ATER AfpTR IS R
ATEITEIE R Ed

Options :

686340155881. 1
686340155882. 2
686340155883. 3
686340155884. 4

—

b

[#¥]

fea

Question Number : 72 Question Id : 68634039469 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements. one is labelled as Assertion (A) and the other is labelled as Reason (R) :
Asgsertion (A) : Restriction endonuclease cleave the foreign viral DNA inside the bacterial cell, but bacterial
DNA 1s protected from Restriction Endonuclease attack.

Reason (R) : Bacterial DNA does not contain recognition sequence of restriction endonuclease.

In the light of the above statements, choose the most appropriate answer from the options given below.

ok

. Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

)

2. Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)

L)

. (A) 1s correct but (R) 15 not correct
4. (A) 1s not correct but (R) is correct

Options :

686340155885. 1
686340155886. 2
686340155887. 3
686340155888. 4

Question Number : 72 Question Id : 68634039469 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 3l H2F ST U B U 1Y (Assertion A) & &0 H [oR9d © O G8R1 395 SR (Reason R) &
FO0H -

iy A - widdeH Tsyfdaud, fasrdia. aumdia St e U 1 Sildiv] Sifie] & <R fdead &l g.
[R=q SAIUd g SIUAT, Widae= Usgfdaus 9 &1 36dl o

HRUI R : SIAIEIG ST H wfias TSHfaaus 3 989 and SfHH ol oid|

QI BYH o 3fdid H, Hid G0 70 fdped| § I Tgl IR &1 909 DIl .

1. A dR R A W81 € SR R AP GEI AT ©

A SRR Gl gl §. b1 R. A DI oI IR 51 &
ATEE AfpTR I ER

4 ATEI TR TR T B

Options :

686340155885. 1
686340155886. 2
686340155887. 3
686340155888. 4

b

[#¥]

Question Number : 73 Question Id : 68634039470 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Enzymes involved in urea biosynthesis from ammonia are listed below. Arrange these in order of their actions

A. Arginase

B. Ornithine carbonyl transferase

C. Argininosuccinate lyase

D. Carbamoyl phosphate synthetase I
E. Argininosuccinate synthetase

Choose the correct answer from the options given below.

1.E.D.C.B.A

| ]

.D.A.B.C.E
3.A.B.C.D.E
4.D.B.E.C.A

Options :

686340155889. 1
686340155890. 2
686340155891. 3
686340155892. 4

Question Number : 73 Question Id : 68634039470 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

ST ¥ g & Sia S0 § 9o USieHl & i Ydias a1 T gl 55, 596 a1 B &
%0 o oaid Difviu:

At fau 7Y fawent H U el 3R &1 997 S

1.E,D.C.B,A

[ )

D.A.B.C.E
3LAB.C.D.E
4.D.B.E.C.A

Options :

686340155889. 1

686340155890. 2
686340155891. 3



686340155892. 4

Question Number : 74 Question Id : 68634039471 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the stages of infection process as they occur :

A. Evasion from host defence mechanism
B. Entry of pathogen

C. Damage to host cell

D. Exit from the host

Choose the correct answer from the options given below.

1.B.A.C.D

| ]

Ay By D

BiAD.C

L¥¥]

4.C,D.AB

Options :

686340155893. 1
686340155894. 2
686340155895. 3
686340155896. 4

Question Number : 74 Question Id : 68634039471 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 Widha & G =Rl &1, S @ Bid ©. 99l S H § Safiyd S

A TS &5 TRET T DT 3Te300
B. TGS BT WA

C. Ot IRt o1 3T (&
D. U1 Sifere ¥ Hafea

A= fau TIe fawedt & 9 el S| &1 791 DI

1.B,A.C.D

[ )

A CD
3.B.A.D.C
4 C.D.A.B
Options :

686340155893. 1
686340155894. 2



686340155895. 3
686340155896. 4

Question Number : 75 Question Id : 68634039472 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Asrange the following stages of bacterial growth curve chronologically :
A. Lag phase
B. Stationary phase

C. Log phase
D. Death phase

Choose the correct answer from the options given below.

1LAB.C.D

| )

.B.A.C.D

.C.A.B.D

(%]

4 A C.B.D

Options :

686340155897. 1
686340155898. 2
686340155899. 3
686340155900. 4

Question Number : 75 Question Id : 68634039472 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SiiaTu[dig gfs ash @l Fafafad siawirsi & 3fid 3ed ¥ oafiud Sife:

A 3T TI07 (ST

B. Tfde T0T (=3 BN
C. 1T TR0

D. G @RI

< fau U f[d@edl § 9 98l 3R &1 994 Sl

1.A.B.C.D

| ]

.B,A.C,D
3.C,A.B.D
4.A.C.B.D

Options :
686340155897. 1



686340155898. 2
686340155899. 3
686340155900. 4

Question Number : 76 Question Id : 68634039473 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the steps in processing and presenting of an endogenous antigen by an infected body cell as they
oceur :

A Binding of peptide fragments to MHC-I molecule

B. Digestion of antigen into peptide fragments

C. Synthesis of MHC-I molecules

D. Packaging of antigen—MHC-I molecule

E. Insertion of antigen—MHC-I complex into plasma membrane

Choose the correct answer from the options given below.
LA B, CDE
2.CCDABE
Ll S

1. B.C.D.AE

Options :

686340155901. 1
686340155902. 2
686340155903. 3
686340155904. 4

Question Number : 76 Question Id : 68634039473 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U Hepid ARINE BIRMD] GRI T Saeiid Ui o1 THEpRu] 3R /a0 & =Rl &1, O d 8id
%, 391 3T H I oafeyd Biffg:

A. UPISS WSl &l MHC-I 3(U] 9§ 3{Tay

B. UIol 1 UPISS Wl § Ure-

C. MHC-I 3{U] T HRA90[

D. UCISH-MHC-I 3] & JapfoiT

E. UeIo-MHC-1 9y &1 w@redT foieel H 4a9

i< f4u U f[d@ed] § O el 3R &1 90 Bl

1.A.B.C.D.E

2.C.,D.A.B.E
3.B.C.A.D.E
4. B.C.D.A.F

Options :

686340155901. 1
686340155902. 2
686340155903. 3
686340155904. 4

Question Number : 77 Question Id : 68634039474 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Gene expression is controlled at various stages written below. Arrange these stages in chronological order :

A. Transeription

B. Translation

C. Post-transcription

D. Epigenetic regulation
E. Post-translation

Choose the correct answer from the options given below.

LABCDE
2.8,CB,E.D
3.B,C.A D E
4. D.A.C.B.E

Options :

686340155905. 1

686340155906. 2

686340155907. 3
686340155908. 4



Question Number : 77 Question Id : 68634039474 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Sife sii¥eafd fafi =Rull gR1 HEfEd gidl 61 4 ford =Rull &1 pHes ©U H ogafeyd DI
A. 3EEA

5 :

C. Uy
D. UfUsHie®

E. 0 &Yid0
i< faU T [dedi & 9§ Tel 3T &1 99 BIfoIU;

1.AB.C BD.E

[ )

_A.C.B.E.D
3.B.C.A.D.E
1.D.A.C.B.E

Options :

686340155905. 1
686340155906. 2
686340155907. 3
686340155908. 4

Question Number : 78 Question Id : 68634039475 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Proteins involved in DNA replication are written below. Arrange them chronologically in terms of function :

A. DNA polymerase I
B. DNA polymerase III
C. Helicase

D. Ligase

E. Primase

Choose the correct answer from the options given below.

1.C,E,B.D,A

[ ]

CE BAD
3AB.C.D.E
4. B.A.C.E.D

Options :
686340155909. 1



686340155910. 2
686340155911. 3
686340155912. 4

Question Number : 78 Question Id : 68634039475 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Siuu ufapiaad ¥ |itfea Ui i (U e § | g9 il & sUR W g% Siad 3o I ogaieyd
GAITE

A. SITFU Glefiae 1

B. SIU-U UIAHS I

C. gelldh

D. AR
E. WSS

A= fau TTe fawedt & 9 el W &1 794 B

1.C.E.B.D.A

| )

.C,E, B, A, D
A B DLE
4B, A CE D

Options :

686340155909. 1
686340155910. 2
686340155911. 3
686340155912. 4

Question Number : 79 Question Id : 68634039476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following steps of cell signalling in chronological order

A. Reception

B. Generation of signal
C. Response

D. Transduction

Choose the correct answer from the options given below.

1. B, A, D, C

[ ]

CALB.C.D

DG BA

L¥¥]

4.B.D.A.C

Options :

686340155913. 1
686340155914. 2
686340155915. 3
686340155916. 4

Question Number : 79 Question Id : 68634039476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PN Yhdd & MG IR0 & HHEG &4 H cgaidd Il

A. XdFId (Reception)
B. Hbdl Pl WA g1

C. 3ffebar

D. UIITHA (Transduction)
- U U fosedl & 9 6! SR 31 95 DIV

1.B.A.D.C
2AB.C.D
3.D.C,B.A
4 B.D.A.C

Options :

686340155913. 1

686340155914. 2

686340155915. 3
686340155916. 4

Question Number : 80 Question Id : 68634039477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :



Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement-I : Histone acetylation is generally associated with decrsase in gene transcription.
Statement—II : Acetylation occurs on lysine residues in the N-terminal tails of histones.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement—I and Statement—II are correct
2. Both Statement—I and Statement—11 are incorrect
3. Statement—I is correct but Statement—II is incorrect

4. Statement-I is incorrect but Statement—1II 15 correct

Options :

686340155917. 1
686340155918. 2
686340155919. 3
686340155920. 4

Question Number : 80 Question Id : 68634039477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁaaﬁiﬂmﬂt{%

HYA1 : G UReEaE 9HRIG: S S aE- 8 Sl § 9EE sidl 6|
HYA 1 : URergayH. B & N-RR &1 Yoo § a9 sagwi dgarg|
SWRIFd BYF & el |, =i 3T 7 famedi § 9 9el SRl 997 SIfAg:

1. BYA I3RS G &
2. FYTI RIS 3R §
3. PYTITA R, AfbT FUT 1 3T ®
4, PYT I3 e, AT YT I I &
Options :
686340155917. 1
686340155918. 2

686340155919. 3
686340155920. 4

Question Number : 81 Question Id : 68634039478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—I : Mutation in the middle of a gene that creates stop codon 1s called frameshift mutation.
Statement—II : Frameshift mutation can be a point mutation.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement—I and Statement—11 are true

| )

. Both Statement—I and Statement—II are false
3. Statement—I is true but Statement—I1 1s false

4. Statement—I 15 false but Statement—IT is true

Options :

686340155921. 1
686340155922. 2
686340155923. 3
686340155924. 4

Question Number : 81 Question Id : 68634039478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HUF 1 : 5 & T H S IARad FH0 $e Sad Bl 6, 949 b fRI9e Saikadd ogd 3
HYA 11 : AT IaRadd, [fg3diady v gl godl ¢
SWRIG BYF & el H, 4 AU 7T fahedi § ¥ Fel 3Rl 98- SIfe:

. PUI RIS T &
2. HYT IR 113 3T &

3. PUTI A e, AP PUT I ST &

4 FYT M. AfbTEY I g ©

Options :

686340155921. 1
686340155922. 2
686340155923. 3
686340155924. 4

Question Number : 82 Question Id : 68634039479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—I : Weak interactions like hydrogen bonds and salt bridges stabilize protein folding.
Statement—II : Protein folding is assisted by chaperones.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement—I and Statement—1I are correct

| )

. Both Statemnent—I and Statement—II are incorrect
3. Statement—I is correct but Statement—II is incorrect

4. Statement—T 1s incorrect but Statement—II is correct

Options :

686340155925. 1
686340155926. 2
686340155927. 3
686340155928. 4

Question Number : 82 Question Id : 68634039479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BUA 1 : BISSIo 5 R U e ST &0 RER fbat didi o8 1 AR &l 81
YU 11 : WIS (TR UidH T8l 5 Jeraar sdl ¢
QIRIHT Y & 3fald o, Fid fGU 778 fadhedl § O el I 999 Sieie:

1L PRI 9d &
2. YT SIR I SH A T
3. PYT I g 8. AfeT FU I T ©
I I e e A TR IR B e i
Options :
686340155925. 1
686340155926. 2

686340155927. 3
686340155928. 4

Question Number : 83 Question Id : 68634039480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—I : Enzymes lower the activation energy of reactions.

Statement—II : The presence of an enzyme has no effect on Keq.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement—I and Statement—11 are true

| )

. Both Statement—I and Statement—II are false
3. Statement—I is true but Statement—I1 1s false

4. Statement—I 15 false but Statement—IT is true

Options :

686340155929. 1
686340155930. 2
686340155931. 3
686340155932. 4

Question Number : 83 Question Id : 68634039480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YT TR . IhgT Sl 8 sHl ad g |

HUA 11 : UlsH &1 I9RYUTT BT Keq TR P15 UHIG T2l gl

SR FYF & Hald |, 3rd U e f[dsedi § O el ol 994 Hivig:
1. PYUA1 3R I SH T &
2. FYT IR 1 SH 3T ©

3 PUT I A 8. e U I T &

4. PUT HOT S AP P I AT ©

Options :

686340155929. 1
686340155930. 2
686340155931. 3
686340155932. 4

Question Number : 84 Question Id : 68634039481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—I : 146 base pairs of DNA are wrapped around the histone octamer to form a nucleosome.
Statement—II : Nucleosomes play important role in gene expression.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement—I and Statement—II are correct

| S

. Both Statement—I and Statement—II are incorrect
3. Statement—I is correct but Statement—II is incorrect

4. Statement—T 1s incorrect but Statement—II is correct

Options :

686340155933. 1
686340155934. 2
686340155935. 3
686340155936. 4

Question Number : 84 Question Id : 68634039481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BUA 1 : U G[aei3NEIH &7 T, DNA & 146 &R 9. g1 25 & 9R 3R fige gid 51
DY 11 - A[Fa3EE il sifireniad I Hgayul 4H®T &1 Hals &wd & |
SRl Sy & 3l H, A= f3u 7 faw el & 9 98t SRl 994 S

1L PRI 9 &
2. YT ISR I SH A T
3. PYTI g 8. Al U I 3T ©
4 PYT MO e AT EY I g B
Options :
686340155933. 1
686340155934. 2

686340155935. 3
686340155936. 4

Question Number : 85 Question Id : 68634039482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—I : Ammonia is produced during catabolism of amino acids in muscle cells.

Statement—II : In muscle cells. ammonia is converted to urea and then excreted through kidney.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement—I and Statement—II are true

| S

. Both Statement—I and Statement—II are false
3. Statement—I is true but Statement—IT 15 false

4. Statement—I is false but Statement—I7 is true

Options :

686340155937. 1
686340155938. 2
686340155939. 3
686340155940. 4

Question Number : 85 Question Id : 68634039482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬂﬁ%?ﬂ&?ﬂ?{%{f,ﬂq% )

B 1 Ut BTl H onfirend & sruem & SRM i e B B

EEQFI%II . Ut PifRepral O sl &1 givar © uRad- gidl ¢ SR S9! 1al (Ga)) GRT Scul el
EIGIE]

SWRIG BYF & el H, i AU 7T fdhedl § ¥ Fel 3Rl 98- HIfeT:

. FY AR SHI 9a &
2. HFYT 1R 1A ST

3.1 AT T I 3T ©

o

4 FYT IO e AT sy N g &

Options :

686340155937. 1
686340155938. 2
686340155939. 3
686340155940. 4

Question Number : 86 Question Id : 68634039483 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—I : Cyanide results in cellular hypoxia.

Statement—II : The tight coupling of electron transport and phosphorylation is uncoupled by cyanide.
In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement—I and Statement—11 are true

| )

. Both Statement—I and Statement—II are false
3. Statement—I is true but Statement—I1 1s false

4. Statement—I 15 false but Statement—IT is true

Options :

686340155941. 1
686340155942. 2
686340155943. 3
686340155944. 4

Question Number : 86 Question Id : 68634039483 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FUT 1 : TUAES & HRU SIS gRuieqdl ear gl

BYF I : TAFCH URAE SR BIEPRIGUNE & Ge6 S/ ol -1gs gRI SRR {da1 @il &
SIRIad BYUF P el H, =11 23U L famed § ¥ Fel Sove! 997 it

1. P SR 9T §

2. PYF1 IR GHI ST 7

3. FUTI A g, AP PUT I ST &

4. FUT IO . AP HUT I I &

Options :

686340155941. 1
686340155942. 2
686340155943. 3
686340155944. 4

Question Number : 87 Question Id : 68634039484 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is true about steroid hormones?

A. Steroid hormones bind to specific receptors.
B. Steroid hormones bind to DNA to control gene expression.
C. Steroid hormones travel to distant tissues through blood.

Choose the correct answer from the options given below.

1. A and B only

| S

. B and C only
3. Aonly
4. A and C only

Options :

686340155945. 1
686340155946. 2
686340155947. 3
686340155948. 4

Question Number : 87 Question Id : 68634039484 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS ETH P IR H T Id 87

A Wzs e faltw mfedl @ sre 9 d &
B. W58 g, §iiF sifiyenfaa =1 Hdfad o33 & it pNA T smexig9d &
C. TTS BTHH a6 §RT 3% S| a% Uaed #3d o

i< faU 70 fddedl & 9 Jel IR &I 99 BIfIU:
1. ¥ae A R B
2. $auB AR C
3. had A
4. FaAASMRC

Options :

686340155945. 1
686340155946. 2
686340155947. 3
686340155948. 4

Question Number : 88 Question Id : 68634039485 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements 1s true about histones?

A. Histones are rich in acidic amino acids.

B. Histones are rich in basic amino acids.

C. Histones are important for stabilizing single-stranded DNA.
D. Histones bind to DNA to form chromatin.

Choose the correct answer from the options given below.
1. B and D only
2. Aand C only
3.B. C and D only

4. A and D only

Options :

686340155949. 1
686340155950. 2
686340155951. 3
686340155952. 4

Question Number : 88 Question Id : 68634039485 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e IR d Fufa syt I sRaH 9al &2
A e sty o ol § 9SG gld o |
B. feeH et safi=t ol § W< Bld B
c. fEeH o I St & e & foe meag 81 €
D. feeH Suau F ey oe afeT 991 &
< f4u U [d@edl § O 9l 3R &1 99 Bl
1.H3dB AR D
2. FHaA A AR C
3. %A@ B, C AR D

4.%ad A JARD

Options :

686340155949. 1
686340155950. 2
686340155951. 3
686340155952. 4

Question Number : 89 Question Id : 68634039486 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Resting membrane potential is conducted by
A. active transport
B. selective permeability of phospholipid bilayer
C. passive diffusion across lipid bilayer
D. differential distribution of 10ns across membrane

Choose the correct answer from the options given below.

1. A. B and D only

| )

.B. C and D only

L¥¥]

A, Band C only
4. A. Cand D only

Options :

686340155953. 1

686340155954. 2

686340155955. 3
686340155956. 4

Question Number : 89 Question Id : 68634039486 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

foRmEar fays 1 IR il 8-
A. Ifchg gfigeq
B. BIEpIcits &1 fg Tde &1 9ai-d IR

c. fofus &1 fggde 9 Fiseg R
D. [21eel & R SIHl &7 3HE [adul

-2 feu 7 fawedl & 9 el SR @1 994 ST
1. $ad A. B 3R D
2.%adB.C ARD
3.PIAAB AN C
4. Bad A, C R D

Options :

686340155953. 1
686340155954. 2
686340155955. 3
686340155956. 4



Question Number : 90 Question Id : 68634039487 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following proteins do not belong to the group of chromoproteins?

A. Fibroin
B. Haemoglobin
C. Keratmn
D. Cytochromes
E. Flavoproteins

Choose the correct answer from the options given below.
1.B and D only
2. Aand C only
3. AB and E only

4. B. C and D only

Options :

686340155957 1
686340155958. 2
686340155959. 3
686340155960. 4

Question Number : 90 Question Id : 68634039487 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

e 8 9 &F 91 WidH S & 993 5 1T 91d 6

A, fdrEa
B. feqnraifed

C. Bl
D. Tlecimig
E. GAawic =
i< faU U [dedl © 9§ Tel 3R &1 99 DIfuIL;
1.9ad B AR D
2. FaA A AR C
3. BFATA BN E

4. HAAB. C 3R D

Options :
686340155957. 1
686340155958. 2



686340155959. 3
686340155960. 4

Question Number : 91 Question Id : 68634039488 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What information about protein can be derived most accurately from gene sequence?

A. Primary structure of protein

B. Function of protein

C. Secondary structure of protein

D. Three-dimensional structure of protein

Choose the correct answer from the options given below.
1. B only
2. Aonly
3. Aand C only

4. B and D only

Options :

686340155961. 1
686340155962. 2
686340155963. 3
686340155964. 4

Question Number : 91 Question Id : 68634039488 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S ST O UICH & a1 B (1) It o1 () Halide quridr 4 Hepitd o1 o 9adl g2

A UIEH & yrufirear S==A1
B. UleH & &1

C. UIeH &1 fgaige S3=1
D. UZH &I [Fegr] Oe= T

- feu U fawedl & 9 981 3R &1 994 St
1. $dd B
2. Pad A
3.PaAAARC
4. BB IR D

Options :
686340155961. 1



686340155962. 2
686340155963. 3
686340155964. 4

Question Number : 92 Question Id : 68634039489 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two proteins X (Mol wt. 20 kD. pI 6.3) and Y (Mol. wt. 90 kD, pl 6.4) can be separated by which of the
following techniques?

A. Gel filtration
B. Ion-exchange chromatography

C. Isoelectric focussing
D. SDS-PAGE

Choose the correct answer from the options given below.
1. A and B only
2. Aand D only
3.B and C only
4. B and D only

Options :

686340155965. 1
686340155966. 2
686340155967. 3
686340155968. 4

Question Number : 92 Question Id : 68634039489 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ﬁm‘cﬁﬁf%(ﬂwzom. pl 6.3) 3R Y (3UIUR 90 kD, pl 6.4), FEfIREd o 659 da-iid gRI e &1
ol 9l 82

A ofd e
B. 3104 [alHH9g S iHeums]

C. THASYH (ASHI-SAEeP) BB

D. SDS-PAGE

-2 feu T fasedl # 9§ Fel IR &1 94 DIfT:
1. dad A SR B

.®ad A dRD

3. %adB AR C

4. Pdd B AR D

Options :

686340155965. 1
686340155966. 2
686340155967. 3
686340155968. 4

| B

Question Number : 93 Question Id : 68634039490 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following techniques can be used for analysis of gene expression?

A. Northern blotting
B. Southern blotting
C. Western blotting
D. gRTPCR

E. ENA sequence

Choose the correct answer from the options given below.
1. A.B and D only
2.A.C.Dand E only
3.B.C.D and E only

4. A.B.D and E only

Options :

686340155969. 1
686340155970. 2
686340155971. 3
686340155972. 4



Question Number : 93 Question Id : 68634039490 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oIt sifiyaafda & fawewor & forn Rafafaa go-ie! § O g T o1 SudnT fear o1 9&di 22
AT s@ten
B. Ta &leT
C. % saleT

D. qRTPCR
E. RNA 351

i fU U [dedi © O T 3T &1 T4 SIIU:
1. %ad A. B IR D

.$dd A. C,DPAUE

3. %dd B, C,D AW E

4.9dd A.B.DHAU E

[ B

Options :

686340155969. 1
686340155970. 2
686340155971. 3
686340155972. 4

Question Number : 94 Question Id : 68634039491 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A Vitamin A I [Rickets
B. [Vitamin K II. [Excessive bleeding]
C. [Vitamin C II1. [Night blindness
D. Vitamin D V. |Scurvy

Choose the correct answer from the options given below:

L (AHD): (B)~(IV): (C)~(II): (D)D)

| B

. (A)(IID); (B}ID): (C)—(IV): (D)~(I)
(AHIV): (B)}AIID): (C)D): (D)~II)
4. (A)~(ID): (B)~(IID); (C)~IV): (D)~I)

Lad

Options :
686340155973. 1
686340155974. 2



686340155975. 3
686340155976. 4

Question Number : 94 Question Id : 68634039491 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 1 1 g= 11 ¥ e S
g1 T 11
A [[qerfEq A 1. [N&hcg
B. [[qerfEa k 1L |3t Iaaard
c. e = c 1L Rl
D. [[de®A D V. [ehdt

[Frafeied faeedl o 1 981 9Tk &1 90 By -
L. (A)D): (B}AIV): (C)~(ID); (D)~(III)

 (A)(IID): (B)ID): (C)-IV): (D))

(AHIV): (B)HII): (C)HI): (D)D)

4. (A)HID): (BIIID): (CHIVY: (D))

|

L#%]

Options :

686340155973. 1
686340155974. 2
686340155975. 3
686340155976. 4

Question Number : 95 Question Id : 68634039492 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with Tist IT

LISTI LISTII
A |Leucine 1. |Phosphoryvlated by kinase
B |Serine II. [Negatively charged R group
C. |Glutamate II1. [Neon-polar, Aliphatic R group
D |Tryptophan IV |Aromatic R group

Choose the correct answer from the options given below:
L. (A)(IT): (BIHD): (C)HIV): (D)-(ID)
2. (A)-(D: (B)}-(ID): (C)-ID): (D)~IV)
3. (A)(ID): (B)H(ID): (CH-(IV): (D)D)
4. (A)HID: (BIHD): (C)—(I1): (D)-IV)

Options :



686340155977. 1
686340155978. 2
686340155979. 3
686340155980. 4

Question Number : 95 Question Id : 68634039492 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=t 1 1 g 11 F e Sifse

T 1 T 1
A [ggH 1 [BIEds gR BIRPRIEHICS
B. [€H II. [RUTHS 342 gad R 956
C. feeHe I1L |37ydTg. TiTbich R 998
D. [fepith IV. [RHTEH R 9HE
frafeiad famedl & 4 Uet SR &1 99 S -

1. (A(IID); (B)~D): (C)~IV): (DI(ID)
(A)I): (B)~(ID): (C)IIT): (DI~(IV)
3. (A)(IID): (B)—(ID): (C)~IV): (D)D)

| B

4. (A)~{IID): (B)~(1): (C)~(II); (D}IV)

Options :

686340155977. 1
686340155978. 2
686340155979. 3
686340155980. 4

Question Number : 96 Question Id : 68634039493 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List [T

LIST I LISTII
A [VLDL 1. |Transport cholesterol from peripheral tissues to liver
B. |[Chvlomicrons | II. |Transport cholesterol from liver to other tissues
C. [HDL [I1. PMovement of dietarv triacylglycerol to various tissues
D. LDL IV |Transport of endogenously synthesized tmacyvlglveerols

Choose the correct answer from the options given below:

1. (A)IID); (B)~IV): (C)1D): (D)D)

| B

(A)HIV): (B)IID): (C)(T): (D)~ID)
3. (AHD): (B)ID): (CHIIL): (DIHIV)
4. (A)~(ID): (B)~(IID); (C)~IV): (D)~I)

Options :

686340155981. 1
686340155982. 2
686340155983. 3
686340155984. 4

Question Number : 96 Question Id : 68634039493 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 1 1 g= 11 ¥ fHaE S
T 1 T I
A VLDL 1 [aReY @del) Sad! 4 Gdd ol dieRelc & URded
B. [prEdiaEs-g| I [Biiceeid B 3dhd 4 GO SHad| ad Uiide
C [EDL 111 |HTERIG 215 ReeRid @1 [GIYE Sadl 5 T894
D. [LDL 1V, [3iqeiia Gl ZIgiicrRicd &1 Uikded
frafefad fasedl o 9 6l SR &1 954 S :

1. (A(IID): (B)~IV): (C)~(I): (D)}~(IT)

|

(AHIV): (BYHIID): (C)(D): (DYAID)

L#%]

(AHD): (BIID): (CHHIID): (DIHIV)
4. (A)HID): (BIIID): (CH—IV): (D))

Options :

686340155981. 1
686340155982. 2
686340155983. 3
686340155984. 4



Question Number : 97 Question Id : 68634039494 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List [T

LIST1 LISTII
A IDNA methvlation I. |Increase accessibility of DINA sequence
B. |Histone acetylation Il |Gene silencing
C. |ATP-dependent chromartin remodelling] II1. [Occurs on lysine residues of histones
D. [Nucleosome IV, [Barrier for transcription

Choose the correct answer from the options given below:

1. (A(I): (B}(I): (C)~IV): (D)~(IID)

| )

(A (B)~(II): (C)(III): (D}~IV)
3. (A)~(IIT): (B~ID): (C)I): (DIHIV)
4. (A)~(I1): (B)~(IID): (C)~(D): (DI~IV)

Options :

686340155985. 1
686340155986. 2
686340155987. 3
686340155988. 4

Question Number : 97 Question Id : 68634039494 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

=il 1 %1 g 11 ¥ e Sifg
T 1 T I
- SITU 3 A DI
A [Steu YT L ST 3
5 5 ERICEE
B. B Ufgegaw- 1I. e
. ATP 54T hiHIe @1 e 4 i REI- H aIgdi Sfaziyl
* [eare (fmrsfem, ‘Helde
D. [Rfiae ey IV, [3eE H au®
Hafeiad [awedl O U 9gl ST &1 994 B ;
L. (A)D): (B)-I): (C)~IV): (D))

[ )

(AHD): (BHID: (CHIIT): (D)HIV)

Lad

 (AHII); (B)ID): (C)~(I): (D)~IV)
4. (A1) (B)HIID): (C)D): (DHIV)

Options :



686340155985. 1
686340155986. 2
686340155987. 3
686340155988. 4

Question Number : 98 Question Id : 68634039495 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI

LISTII

DNA polymerase [

L

Primase

DNA polymerase &

I

DNA repair

DNA polymerase o

1L

Mitochondr

1al DNA replication

R

IDNA polymerase 7

IV.

[ cading and lagging strands of DINA

Choose the correct answer from the options given below:DNA polymerase T

1. (A)~(D): (B)~II): (C)~(III): (D}~IV)
2. (A)~ID): (B)HIV): (C)~(I): (D)D)
3. (A)IID): (B)~IV): (C—(ID): (D)ID)

4. (AIV): (B)ID): (C)—(D): (D)~III)

Options :

686340155989. 1
686340155990. 2
686340155991. 3
686340155992. 4

Question Number : 98 Question Id : 68634039495 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1




=it 1 1 = 11 ¥ fHaE S

T 1 T 11
DNA TG B | 1 [HEET
DNA TIAES 5 | 1L [S1090 738
DNA UIdITR o | 111 [Higeieiigdd 1T &l Hideida-
DNA TSy | IV [B1T U & Ul 3R UyddRelh
freferad famedl o ° 98l SR &1 994 BT :

1. (AID); (B)~(II): (C~III): (D)}~IV)

(AHID): (B)HIV): (C)(1): (D)~(III)

ofo]w[s

|

L#%]

 (A)IID): (B)HIV): (C)1): (DIHID)
(AHIV): (B)HII): (C)HI): (D)IIT)

e

Options :

686340155989. 1
686340155990. 2
686340155991. 3
686340155992. 4

Question Number : 99 Question Id : 68634039496 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1 LISTII
Cvclin D/CDEY 1 |Triggers cell death
Cyveclin EXCDE 2| 1T |Transition from G2 to M
Cvclin B/CDEI1] IIL. [Initiation of DNA synthesis
P33 IV |G1 checkpoint

ofofw[

Choose the correct answer from the options given below:

L. (A)-(IV): (B)~(I): (C)(II): (D))

| )

(AT (B)HID): (C)—IV): (D)D)
3. (A)D): (BIID): (C)~{II): (D}HIV)
4. (A)IV): (B)~(IID): (C)~(II): (D))

Options :

686340155993. 1
686340155994. 2
686340155995. 3
686340155996. 4



Question Number : 99 Question Id : 68634039496 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 1 1 ga 11 ¥ e sifg

T 1 A1
[T5ida D/CDKY| 1 [PIIR@ 5 &1 I (]TTR)
arsfde E'cDr2| 1 |62 @1 v | g Hu @lforEm)
greide B/CDK 1| 111 [S1T4T T=a90 &1 URY
b3 V. |G1 9@ @Ee

fafaiad fowedi & 9 Ogl 3R &1 994 Sifo -

L (AIV): (B)AI): (CHII): (D))

ofo]w[x

Ld

2. (A(IID): (B)(II): (C)~IV): (D)~I)

Lid

(AHD): (BYHID): (C)II): (D)HIV)
(AHIV): (B)~(II): (C)ID): (D))

=y

Options :

686340155993. 1
686340155994. 2
686340155995. 3
686340155996. 4

Question Number : 100 Question Id : 68634039497 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Glycogen I |Cell wall of plants
B. [Starch II. |Carbohvdrate storage in animals
C. |[Cellulose [T |Carbohvdrate storage in plants
D. |Chitin IV |Cell wall of fungi

Choose the correct answer from the options given below:
1. (AHII): (BYAHIID): (C)(I): (DIAIV)
(AD); (BI(ID): (C)—(IID): (DIHIV)

3. (A (BIAID): (CHI): (DIHIV)

| B

4. (A)~(IV): (B)~(L): (C)(II): (D)~(IIL)

Options :

686340155997. 1
686340155998. 2
686340155999. 3



686340156000. 4

Question Number : 100 Question Id : 68634039497 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=t 1 o1 g 11 fHaH Sifee

T 1 g1 11
A [arssieE 1 [oel &1 &Il 1t
B. ™ IL [BlERRSe HSRY (Sigai H)
C [oees 1L [Uedl § #Eieigae HSR
D. [@rEicd 1V [@a® & @I (5

Fafafad fowedl & 3 U ST &1 999 DI -
1. (A)(ID): (B)-(IID): (C)HD): (D}HIV)

. (AHD): (B)YHID: (CHIID): (D)IV)

 (A)(II): (B)HID): (C)D): (DIHIV)

(AHIV): (B)D: (C)~(I1): (D))

| B

(%]

e

Options :

686340155997. 1
686340155998. 2
686340155999. 3
686340156000. 4



